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ik, PRSI EE N

Y = ABC + A BC + AB C + ABC
= ms+ ms+ Mg+ My
=>mi3,5.6.7)

PH R B bR SR @ R BT R RN, RIEEARE R
HES s 7 i SR B 1 (0 A8 BT W (R B N TUA I, Bk 3B 4R
FE bR ES B, B S el BB R Y + X)), FNHAEE A B+
C)= AB + AC ¥ ilihrE S8, XHM x TSI PR,

(2) f KIFbrAEs 5

@ AT W+ o AMERPBHRAEHSA, WRFH D EE LW
&, HEANEEURERERRPE A HI K, Wiz WA A & X,
W Mo n NEEM A E R LA 27 AN, JEE I b R A BEELR o0,
AR R K 1 7930 00— 41— REHBIEIT 0 I R, R Z ORI AR
MIE . W KICA+ B+ C)idh Ms.

@ BATMER. #2.3.4 A 0=2& A. B. C HBRKIMAMER, il
SH 2 T VA 9 5 O IO 1 O

F234 ZEEmAMEER

ABC M, M, M, M, M, Ms My M,
000 0 1 1 1 1 1 1 1
001 1 0 1 1 1 1 1 1
010 1 1 0 1 1 1 1 1
011 1 1 1 0 1 1 1 1
100 1 1 1 1 0 1 1 1
101 1 1 1 1 1 0 1 1
110 1 1 1 1 1 1 0 1
111 1 1 1 1 1 1 1 0

AR AR RIRE, R DRI 0, He4 3 5ok i) {HY)
M1

PR AR, AERA MR AT AR T4 1

A AR AL —4UE, R KT, 0,
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@ MAS R RT:  BAT AN B R B P A S5 K TIURR R A AR B R I0, B FR
JIARARI . P A AR &S ORI AT LU SR A o — T, RN kARG RT
H AR, WAHAEE KICA + B+ CORICA + B+ O TEH

(A+B+CXA+B+C)=AB+C)+A(B+C)+(B+C)
=(B+C) HETHRER A

@ brifEsk 550 MASRmE 2R ATMK SR, AR5, K

I KTk, P S A B A fid e,
Y(A,B:C)=(A+B+CXA+B+CXA+B+C)
=My, My M;=11MC0,2,7)

B4 R B bR B S RS 4 e T R R . R RS
s 5o 7y it L eR 0T 0 (19 &A% BE LD I [F de AT 3, T Dl 3% 48
MRE bR 5. s S, LUERMEC(Y X)), HRNHSEH A +
BC=(A+ B) A+ ¥ brig 5. KEM X ARSI Db 2.

[2.3.1] WIGZHEEE y=C>A4+B)NB+ C)FHRMrERS.

f#: Y =(A+B)XB+C)

=(A+B+C CXB+C+A A)
=(A+B+CYXA+B+CXA+B+CXA+B+C)
=M, My My Mg

= |1 m(2,3,6)

(3) P FhERIE 7 IA R 1 o 4

@ F—ZHEeaE, AT LA PR AS R AR i ik K

@ R, ZRHAIGE BRI, AR E s UM KT 5
R e g, B

T = My ﬁ_
@ Inj—&ﬁ%@ﬁzEﬁJbrfﬁf'—ﬁﬁiuﬂhH%i'ﬁfcuﬁfr&-%
(54 YA B C)=>m (1:2,4,7)

iy
Y(A: B €)= Y m (0:3,5,6)

=my+ ms+ ms+ mg
XYCA By CORIKE
Y(."I-B-C):mg+m.3+m.5+mﬁ=?.u?3n_zsa
=My My Ms Mg=1IM (0, 3, 5, 6)

P EA _
Y('q‘ B, C): }.:m (I»2r4v?)= ” M (0!3-5-6)

B BT AT RN A R OC R W RAE p AN EALER 20 AN BN ORI
M FEREAE AR, WhHES ST I BT R bR & S b 5 0P &



